1 1 1 1 abcd 1 1 1 1
A_}l—j—lj d abec 1 j -1 —j|
401 -1 1 -1 cdab 1 -1 1 -1

1 j -1 —j b cda 1 —j -1

W P W
a+d+c+b b+a+d+c c+b+a+d d+c+b+a 1 1 1 1
1| a-jd—c+jb b—ja-d+jc c—jb—a+jd d—jc—b+ja 1 j -1 —j
4 a—d+c—b b—-a+d-c¢c c¢c—-b+a-d d—c+b-a 1 -1 1 -1
a+jd—c—jb b+ja-d—-jc c+jb—a—-jd d+jc—b—ja 1 —j -1

(N)oo [(a+d+c+b)+(b+a+d+c)+(c+b+a+d)+(d+c+b+a)] /4

Ny = [(@a—jd—c+jb)+j(b—ja-d+jc)-(c—jb—a+jd)—j(d-jc—b+ja)]/4
Ny = [(@a—d+c—Db)—(b—a+d—-c)+(c—b+a—-d)—(d—c+b—a)]/4

Nz = [(@+]jd—c—jb)—j(b+ja-d—jc)—(c+jb—a—jd)+j(d+jc—b—ja)]/4
Ao = (a+d+c+b+b+a+d+c+c+b+a+d+d+c+b+a)/4

(

(a—jd—c+ jb+jb+a—jd—c—c+ jb+a—jd— jd—c+ jb+a)/4
A = (a—d+c—b-b+a-d+c+c—b+a-d-d+c—-b+a)/4

(a+jd—c—jb—jb+a+jd—c—c—jb+a+ jd+jd—c— jb+a)/4

Ao = a+d+c+b
M = a—jd—c+jb
Ao a—d+c—b
A3 = a+jd—c—jb

Ao 1 1 1 17[a
ML |1 - -1 j||d
M| Tl1 11 21l
A3 1 j -1 —j|]|b

W*



